Forces — 3 — Practice

1. Complete the table of components of the three forces AY
shown.ln the diagram. 25kN 20kN
Use this to calculate the resultant of the three forces.

200 450
force X-component y-component 3(Q° %
15kN 15kN
20kN

(15.6kN, 76.5°)
25kN
total

2. Calculate the resultant of the three forces shown, by Ay
adding the x and y components. g 19kN
(hint: you may want to measure all angles to the x-axis) 15k 300
(9.83kN at 208°) X
60°
20kN
3. Calculate the resultant force acting on the eye bolt. (1.1kN, 88°)
a.\.
F;=300N
Fg =450 N ‘ -
F3 = 'f)ﬂ[:' N
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